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1 TEE oH Hetd = oAl SSM1ZE 5(&S) stE 40,000 50,000 40,000 50,000 | HEgls | BSOS
2 o2 2H Hetdz oAl SsM1ZE 11(&S) stE 40,000 50,000 40,000 50,000 | HEgls | HEAUS
3 M-S Ol El o MEYE oA ABE 235-11(A2E) =R 50,000 60,000 50,000 60,000 | H=8l2 | Ha8la
4 52 24 Hetd = oAl A|F3Z 35(ES) stE 50,000 70,000 50,000 70,000 | H=8l2 | HeS
5 SHEF 2H Hetd = oAl A|gs522 16(25) stE 50,000 80,000 50,000 80,000 | HE8S | HEUS
6 O A S El D MEtH T oAl A|H3Z 35-6(35) 1 50,000 60,000 50,000 60,000 | HEQS | HESUS
7 NS (== Mete . of4=Al A|H3Z 35-6(SS) st& 50,000 60,000 50,000 60,000 | H=8l3 | HEUS
8 S ElOFX} o MetE e oAl AIHS3Z 13(38) st& 45,000 55,000 45,000 55000 | HEgla | HE8lS
9 DHSHE 24 Hetd e oAl AIHS3Z 12-15(%8) stE 50,000 55,000 50,000 55000 | HEQls | HE8lS
10 S LR= Hetd e oAl A|ES22 22-1(3H3) s 45,000 80,000 45,000 80,000 | HEQS | HEUS
11 E2oMH =11 MEIYE oAl AT E 231(A3E) AT E 50,000 60,000 50,000 60,000 | H=8l8 | HEUS
12 QM3 o HMEtEE oAl etaM1E 13(8Hs) sts 40,000 45,000 40,000 45000 | HEQlE | HE8lE
13 Y=o H 24 Hetde oAl A g 322 33(2s) &5 50,000 60,000 50,000 60,000 | HE8IS | HEUS
14 ofH=H 2H FEtdE oAl A|EHS22 36(23) &5 40,000 40,000 40,000 40,000 | HEUS | HESBUS
15 Qo olH =L MEtd e oAl A|E3Z 35-14(8H5) &5 60,000 70,000 60,000 70,000 | H=8lE | HEUS
16 L2 ARt S > HMetd e oAl A" M6Z 3 (8Hs) IR 80,000 11,000 80,000 11,000 | HEUS | HESQUS
17 HIL|Z|OfS Eojz= | e | MEHE O$A| A|HM6Z 19 (3H5) IE= 88,000 [ 106,000 88,000 | 106,000 | HEQUS | HESS
18 Ol+O|E=H 28| HetHE oAl A[EE3Z2 307 (&5) | oE 50,000 60,000 50,000 60,000 | HISES | HSHUS
19 Of =3f{H| X| = & S | MEtEE oA AIEMEZE 5 (BS) BIES 60,000 70,000 60,000 70,000 | H=8lE | HEUS
20 dotR Ll S | HEtEE oA AIEME6ZE 11 (8HS) IE= 60,000 80,000 60,000 80,000 | HE8lS | HEUS SAHE
21 AMORT = & =4 Hetd= oAl AIEM6Z 23 (&5) stE 70,000| 110,000 70,000 | 110,000 | HEUS | HSUS
22 OpeiH ol = | =g HMeEtE = oAl AJEAM6Z 15 (3H3) stE 80,000 | 120,000 80,000 | 120,000 | HEgla | Ha8l3
23 MoreLazE 2" | HetHE oAl AIEM6Z 15 (3H8) s 60,000 70,000 60,000 70,000 | BISQUS | HSEUS
24 dotxjedsd | =@ | "EEE OFAl AIBAM6Z 13(8) EES 80,000 90,000 80,000 90,000 | HERE | HEYUS
25 HiQHH| K| 2= | 2 Hetde oAl AE§M6Z 25(23) &5 83,000 106,000 83,000 | 106,000 | HESUS | HESS
26 S HtheS 24 24 FetdE oAl AEHS 32 30-5(53) & 50,000 60,000 50,000 60,000 | HE8IS | HEUS
27 MK= & 24 Fetd e o=AAEAMSE 16(23) & 50,000 70,000 50,000 70,000 | HE8IS | HEYUS
28 A AE| 24 Hetde oAl AIEE 32 30-2(25) &5 50,000 60,000 50,000 60,000 | HE8IS | HEUS
29 2 28 | H2t"EE oAl AI8E3Z 30-3(45) s 50,000 60,000 50,000 60,000 | HSGS | HSHUS
30 ofeAUE 2F (e E oA AEAM5E 26 (33) s 40,000 50,000 40,000 50,000 | HEES | HE8E
31 mo)s)S El e (Hatd s oAl AIEM1Z 56(8E) &3 40,000 50,000 40,000 50,000 | HEElE | HEUS
32 oY= 28 |[HEtEE oAl AEE22Z 30(%S) s 40,000 60,000 40,000 60,000 | HISGS | HSHUS
33 BfAH|ZtA D E 2E | HMEtHE Oj5A| 5232 3(B3ES) ERacy 50,000 60,000 40,000 60,000 | 25 | HEBUS
34 2ol 2 | H2HE oA S72 48-7(57S) 575 45,000 80,000 45,000 80,000 | HSES | HESHUS
35 ke 2 | EtdE oA SR42 5(87S) Elac) 50,000 60,000 50,000 60,000 | HEES | HSEUS
36 Ml 2 | HetHE oA 3722 8(5F3) ERacy 30,000 40,000 30,000 40,000 | BlERlE | HEGUS
37 SEXt2 & 2 | HElEkE OA EF1E 36(875) 7S 40,000 50,000 40,000 50,000 | HEElE | HEEUS
38 qjﬂg; < SE | HM2tHE oAl YYE 20(HES) 453 60,000 80,000 60,000 80,000 | HEBS | HSBS
o
39 o2 QEY =4 Hetd = oAl 2Ee[Z 9955 S5) HES 110,000 [ 220,000 | 110,000 | 220,000 | HEAS | HEUS
40 SH=* HA Metd e oj=Al YAE 38(HES) 55 80,000 | 150,000 80,000 | 150,000 | HEGUS | HSEUS
41 of ol A =g MEIY T Ojf=A| YU 40(EHES) 355 60,000 [ 140,000 60,000 | 140,000 | HEBUS | HSEUS
42 Of2|Of S AE s MEtLE Oj4=A| UUZ 185(HEE) S35 190,000 | 210,000 | 190,000 | 210,000 | HEQS | BHSRS
43 HpCp o & DE Mt e oA AR 213(HES) S35 30,000 30,000 30,000 30,000 | HEela | Hs8la
44 SEoasH o FMEtHE oA QEER 75(3™5) =85 50,000 70,000 50,000 70,000 | H=8lS | HEUS
45 HS2H& = & = MEtHE OFA| a2 743 3) SR 60,000 [ 120,000 60,000 | 120,000 | HEBUS | HSBUS
46 ZEYADH =1=] HMEIHE oA REEE 61-14(3HE) | £HS 60,000 90,000 60,000 90,000 | H=8lE | HEUS
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Y3 2E | M2tdE oA RLEER 61-6(31E) | =8E 40,000 60,000 40,000 60,000 | HESE | HES8S
2|t 2t & 2E | MEtEE oAl ARSI H2E 13(8S) IR 70,000 70,000 70,000 70,000 | HEQIS | HEYUS
St E 2E | MEtEE oAl ARSI H2E 15(8S) IR 40,000 40,000 40,000 40,000 | HEQUS | HESAUS
ZIAZ Y L= Hetd = oAl ASHSR3Z 8(83) stE 120,000 | 120,000 | 120,000 | 120,000 | HERUS | HSYUS
S 2 Metde oAl ASHS 2 19(3H8) IR 90,000 90,000 90,000 90,000 | H=8ls | HEUS
G ESL=R= 2 MEtdE oAl ASMSR1ZE 8(Hs) stE 60,000 60,000 60,000 60,000 | HESS | HE8S
AP o oE MEtdE Oj=Al B2 2 32-8(8E) stE 50,000 50,000 50,000 50,000 | H=glE | HaSla
JEH L= MeteE oAl HEMS A1 6-4(3S) stE 30,000 40,000 30,000 40,000 Maga
B&PZ 2 (HEtHE oAl MA215-4(5S) &5 80,000 | 100,000 80,000 | 100,000 A
= Ete2H| O] 2 ([HEtHk oA 2fE2Z 30(3S) s 70,000 70,000 70,000 70,000 | HEGlE | HERS
ZetAt2E 28 |[HEtgk oAl ASUSH1Z 26(55) | o5 50,000 50,000 50,000 50,000 | HESES | HSAUS REE
= 2E ML oA SE2Z 158 E) s 50,000 50,000 50,000 50,000 | HEGUS | BHEBE
oazdE 22 |[HEtgk oAl 4EM1Z 16-6(28) s 50,000 50,000 50,000 50,000 | HESEUS | HSYUS
Hgng 2E (MEHE oAl HEUSHEE 1413E) | oF 25,000 25,000 25,000 25000 | HEElE | BERlS
Ef S =& BE [FMEIHE OffA| SHE2Z 23(8HS) s 50,000 50,000 50,000 50,000 | HEoUS | HEAUS
6&9 2 2| M2tHE oA gA3E 2110 EE) | BEE 50,000 60,000 50,000 60,000 HEES | HEUS
FoZHE 2E | MetEE oAl QA3 21-6(2HES) LIRSS 50,000 60,000 50,000 60,000 SIS | HEUS
SHEM Y 2H Metde oAl M43 21-3(3HES) LIRSS 60,000 80,000 60,000 80,000| HE8lS | HEYUS MeE
2|5t A S| TEtEE oAl QA3 24-7(3HES) LI PSES 35,000 35,000 35,000 35000 HEQS | WS
=Hy S| TEtEE oAl A3 24(3HE S) LI PSES 50,000 60,000 50,000 60,000| HEIS | HEYUS
ofz| g 2 Hetgd e oAl QA3 21-4(3HE3) tYs 50,000 60,000 50,000 60,000 HE8ls | HEUS
Ho|F ol 2 HEtHE oAl GABZ 24-8(2HE ) tYs 50,000 60,000 50,000 60,000 HE8lS | HEAUS
ofEFE [=R=] Hetd = oAl G432 21-5(2HS) CIPSES 50,000 60,000 50,000 60,000 HEBl2 | H=s8l3
Of| &2 & 24 MEte e oAl F2M6Z 43-4(MES) MEE 50,000 60,000 50,000 60,000 | H=8l2 | HaSa
et & 24 MEtHE oAl F2M6Z 42-4M 3 S) MEE 40,000 50,000 40,000 50,000 | Hagla | HE8l2
ML 24 MEtHE oAl F2M6Z 42-3(MES) MES 50,000 50,000 50,000 50,000 | Hagla | HE8l2
dhp| el =R= Hetd T oAl A4 Z 8-4(2HEs) I}ES 45,000 50,000 45,000 50,000 | HEgla | HE8l2
ML AFole o HEtg T oAl 43 21-17(3HE &) I}ES 50,000 60,000 50,000 60,000 | H=8l3 | Hagla
HAAEQISH 24 Hetg = oAl A3 21-11@HES) o= 70,000 90,000 70,000 90,000 | H=8l2 | Haga
AKEI 1S & DE | ML E oAl MABZ 21-153HRE) | 3RS 60,000 80,000 60,000 80,000 | HERS | HEUS
S EEtEHY o MEtHE oAl 28 190-6(25+3) =TS 50,000 70,000 50,000 70,000 HEB2S | H=8S
oAz ™ SH | ME2tHE oAl 242106, 6575245 | 255 40,000 50,000 40,000 50,000 | HEGS | HE8lS
ZAERED 28 | H2tgE oAl OA1R 95-9(01ME) | OiME 40,000 40,000 40,000 40,000| HEBlE | HSBS
UOHH|H| =L ASH SH Metdz OjAl B2 58(&4S) ZTE 50,000 80,000 50,000 80,000| HE8l2 | H=s8l3
Aol 2 et oAl o212 39-14(0 M &) GRS 50,000 80,000 50,000 80,000| HEgls | HEUS
Sto|FolR e 24 MEtHE OA| 2222 84(2F3) =TS 50,000 60,000 50,000 60,000 HEB2 | H=8l3
Ag|AEDHE 24 HMetd e oAl 212 43-17(0 M) M= 40,000 50,000 40,000 50,000 Hagla | Hagla
M2 & 2 Hetd e oAl O 2222 76-1(2+S) ZTE 40,000 50,000 40,000 50,000 Hagla | Ha8l2
19z 24 HMetd e oAl 212 43-21(0 M) M= 50,000 70,000 50,000 70,000 HE82 | Hs8lS
g2 & 24 HMetd e oAl 212 43-13(0 M) ZTE 50,000 60,000 50,000 60,000 HEB2 | B82S
AREsH o 223t 69(HAMS) PSR 40,000 60,000 40,000 60,000| B8 | B2
Gz 24 o212 43-7(0 M 3) SRS 40,000 55,000 40,000 55,000 Hagla | Ha8la
Kz 2 |MEtdR oAl o223 33(ETS) | 28 50,000 60,000 50,000 60,000 HEES | HEUS
252 H 2 |MEtdE oAl o223 65(ETS) | 278 50,000 60,000 50,000 60,000 HEES | HEUS
nIna o Qg |FHEbEE oAl OfM12 95-8(0{ M 5) CPSES 40,000 50,000 40,000 50,000 HEgs | HE8S
ISR oE  (MetEE oAl S4HET7E 11-10(848) | SMS 50,000 | 100,000 40,000 80,000 oI5} oI5t
St L& 2E  (MetEE oAl 47 11-11(@MUS) | SMS 40,000 60,000 35,000 40,000 oI5} oI5t
OlAR2E Y |MEtEE oAl SAEHTE 11208 448) | SitE 50,000 70,000 50,000 70,000 | H=8S | HEUS
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95 EEDY 2 (HEtEE oAl SitEeZ 11-18(84ks) | 84tE 40,000 50,000 40,000 50,000 HEAS
9 gz 2 ([HEtEE oAl S48 17(84Hs) SS 40,000 50,000 40,000 50,000 | HEQS | HEQUS
97 |AHOHIX|L A2 D™ (MItHE oA S4H8H 17-15(848) | SitE 72,000 110,000 72,000 110,000 | HESS | HSS
98 Mojj = & L= Mtz oAl 8MET7ZH 11-158448) | 84& 30,000 40,000 30,000 40,000 | HEGE | HE8l2
99 HFZH [=R=" Hatd e oAl B4HH7Z 11-24(848) | S4F 35,000 40,000 35,000 40,000 | HEGS | HE8l2
100 R 2E  |MEHE oA S4HH6ZE 7(84H3) aNES 40,000 50,000 40,000 50,000 | HEgls | BSOS
101 Ol FAZ™ 2H Hetd = oAl S4UET7Z 8(SLts) S 40,000 70,000 40,000 60,000 | HE SIS oI5t
102 HeamH 2H Hetd = oAl S4EH7Z 13(84H3) S 50,000 70,000 50,000 70,000 | HE0E | HEUS
103 Rl 2 Mtz ojA| BAEH8Z 11-16(84E) | S84 35,000 35,000 35,000 35000 | HaEgle | Hs8la
104 MECEE Y |FEtEE oA SAE6ZE 11-9(8is) | Sits 40,000 60,000 40,000 60,000 | H=8l2 | HaSs AU
105 H| L| A o & DY |FEtEE A SAE6ZE 17-7(8is) | Sits 40,000 50,000 40,000 50,000 | HEgla | HE8l2
106 O 2y = & 2E  (MetEE oAl S4HEEHE 11-15(84s) | sMS 40,000 40,000 40,000 40,000 | HEgs | HE8l2
107 z=HM HM  |MEHHE oA St ZE 78(5 %) ks 60,000 | 100,000 60,000 | 100,000 | H=G8lE | HEUS
108 Z=H| X|H 4 HM  |MEtHE oA SHAZE 64(5%ts) stz 70,000 | 130,000 70,000 | 130,000 | HEUS | HEUS
109 Ciotm & ZE  |[HetEE oA 322 13(3%s) S35 30,000 50,000 30,000 50,000 | HEQUS | HESUS
110 dEE HEsd od  (HEtHE oAl 3222 20(3%HS) S35 66,000 70,000 66,000 70,000 | H=8lS | HEUS
111 SO sE  |HEHE O$A RELE 20(33HE) 3%t 70,000 | 120,000 70,000 | 120,000 | HEYUS | HSEUS
112 AFINNALESIRAALES A TEIHE Of Al SSHEH2Z 16-1(328) | S5 15,000 15,000 15,000 15000 | BisEls | HS8S
13 HeLH 22 |[HEtgk oAl SetH2E 8-1(5%ts) | S%s 30,000 40,000 30,000 40,000 | HEElE | HEBE
114 CHEAIAESERA | 2" |[TEtHE oAl S8tH2Z 15-1(8%Hs) | 3¢S 30,000 40,000 30,000 40,000 | HEQls | HEAUS
115 AR 2 |[HEtdE oAl 32E22 15(32Hs) 3%ts 40,000 50,000 40,000 50,000 | HEQs | HEQUS
116 oo QY |FEEE oA 3otE2Z 25-1(2%s) | 3%sE 30,000 40,000 28,000 30,000 oI5t oI5t
117 ZADH 2 ([HElHE oAl S22 87-1(323) 33HE 35,000 60,000 35,000 40,000 | HE8S oI5
118 Sl HM |MEtHE oA SAMS AFZ 9 =S 67,500 120,000 67,500 | 120,000 | HEelS | HESUS
119 SHEC2HEIM HM |MEtHE oA S4E AHB2tZ 85 NS 50,000 60,000 50,000 60,000 | HE8IS | HEUS
120 | 8Hx|pFz2dEdl HM (HMEHE oAl S4S TSR 76 =S 70,000 | 140,000 60,000 | 135,000 oI5t oI5t
121 e=fEgsd S |HatER oA 2ihs ZEAAR 93 | =itE 50,000 | 120,000 50,000 | 120,000 | HEEE | HEES
122 2iopCh= & 29 |FEtEHE oA Sits AHE 11 =S 180,000 | 260,000 AMaga
123 MECSAH HM |TEtHE oA S4E TFRAZ 9 =S 89,000 [ 139,000 89,000 | 139,000 | HEelS | HESUS
124 LtZ2|HM HM  (HEIHE oAl S4S 2dEH4Z 53 =S 75,000 | 160,000 75,000 | 160,000 | HEGE | HS8US
125 A= MHE HAM Hetgd = oAl A|RlZ 2(532ts) ERCIES 118,000 | 200,000 | 210,000 | 280,000 o1&t olet
126 K| EcmH M HAM FEtdE oAl OlA|R 2 1(F2S) e 184,000 | 280,000 | 184,000 | 280,000 | K=l | HEEUS
127 o= 8153 HAM Mt E oAl Ol MBRE 202 35(B5E) | BotE 160,000 [ 280,000 | 190,000 | 280,000 olat HE S
128 Clo|Of 2 &l QE |MELE Oj3A DS 12 6-3(1E) me= 40,000 60,000 40,000 60,000 | HEQUS | BESSUS
129 AFH0[ 2 E 2 | MEtEE oA REEH1ZE 5-5(1F) mE= 50,000 70,000 50,000 70,000 | HEQIS | HEYUS
130 W7} 2H M HME  (HEtHE oAl SHHE 66(5%3) St 129,000 | 189,000 | 129,000 | 199,000 | HEYUS o4t
131 otz=2LH 2 | MEtEE oA REEH1ZE 6-1(1S) mE= 30,000 50,000 30,000 50,000 | HEQS | HES
132 D E-E| 2 Hetgd e oAl REEH1Z 6-12(13) s 40,000 70,000 40,000 70,000 | H=8lE | BSOS
133 S THE L k=g Mg e oAl Ol B2 135(33E) | Boks 95,000 | 150,000 95,000 | 150,000 | HE8S | HESUS
134 BHLESRA | Azsces | MEtHE O{5A| S22 2-2(53Y3) AR 25,000 25,000 25,000 25000 | HE8lS | HEUS
135 LHObEEHFCHHE A HM (MY E of4A| O|2ATEE 159 (BYE) | TUE 120,000 | 210,000 | 120,000 | 210,000 | HEGS | SRS
136 | 20ICt AXE St2A [ HAESRA I MEHE O A| SEZ 18(1AS) SYS 25,000 25,000 25,000 25,000 | H=8l2 | Hagla
137 FEZHE 2 |MEtHE oA SYE 72-21(FYS) Rk 50,000 80,000 50,000 80,000 | H=8lE | HESUS
138 O ==OFHIM HN  (HEtHE oAl SIEZ 60 (52 ats 120,000 | 200,000 | 120,000 | 200,000 | HEAUS | HESAS
139 olst7| E2E | Azestea | MEtHE oA BE5H1Z 5-4(1S) mE= 15,000 25,000 15,000 25000 | HE@lE | HEs8la
140 EYLH RE (MR oAl 2242 52(2ES) RES 50,000 50,000 50,000 50,000 | Hsgla | HE8l2 AT
141 Fz| D D |MEIYE oA Q2142 5322 E) RS 40,000 50,000 40,000 50,000 | HEElE | HESEUS
142 SHio| 2 & D |MEIYE oA Q2142 5522 F) RS 40,000 50,000 40,000 50,000 | HEElE | HESEUS
143 TR E 2 |HetdE oAl RLE4E S42EBS) LEUS 40,000 50,000 40,000 50,000 | HEElE | HESEUS
144 AELZH == MEt s oA Q842 59(2EE) s 40,000 40,000 40,000 40,000 | BHEQS | HESS




o =8 5

o 2R (ERTY) HEE
3 ¢ F 2 3¢ = T 34 £

145 Hetgd e oAl 2242 61(2ES) Qs 40,000 40,000 40,000 40,000 | HEQUS | HEAUS
146 FEt"E oAl 22122 12-6(2EE) RS 40,000 50,000 40,000 50,000 | HEls | B82S
147 FEt" T oAl Q2122 12-4EUE) Qs 40,000 50,000 40,000 50,000 | H=8lE | HEUS
148 MEtHE oAl 22022 12(2ES) eAUS 30,000 50,000 30,000 50,000 | HEgls | HeUS
149 MEtHE oAl 2242 4822 S) AUS 30,000 50,000 30,000 50,000 | HEgls | HEUS
150 Mete e oAl EE3Z2 121(EES) THE 30,000 40,000 30,000 40,000 | HEB2 | HE8S
151 MEte e oAl E93Z2 141(EES) =83 40,000 50,000 40,000 50,000 | HEGS | HE8lS
152 Hetd= oAl EH3Z2 6-1(253) =8 40,000 50,000 40,000 50,000 | HEGS | HE8lS
153 Hetd e oAl 2932 6-21(253) =HE 30,000 30,000 30,000 30,000 | HEgle | Hs8la
154 Hetd e oAl 2222 9 REYSF 30,000 30,000 30,000 30,000 | HEgle | Hs8la




